23810073-01

M8*25 M8*20 M8*18*1.5 M8 M5*8
8PCS 12PCS 5 20PCS c 20PCS 0 4PCS i 4PCS M6
A







Pls lock the pallet when using the angel
ad just machine




	4: 林莉
	页 5
	页 6

